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QUESTION 1

A telecommunications customer needs to develop a flow that sends a message to invoke an existing business process
on WebSphere Process Server (WPS). The requirements do not call for a response message back from the flow. Which
node should the solution developer use to send the message to WPS?

A. SOAPRequest

B. CORBARequest

C. SCAReply

D. SCAAsyncRequest

Correct Answer: D

QUESTION 2

A solution developer implemented a message flow for a book store company which receives an XML input message.
The input message is formed according to an XML schema supplied by the client and used by several other applications
owned by the company. The input node uses XMLNSC parser to parse the input message. The image below depicts a
sample XML input message. According to business needs, the bookDetails elements and all of its children are not
referenced by the code. Performance test for the flow showed a significant time spent in message parsing time
especially for large messages.
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<boockstore>
<boock category="Catli">
<title>bookl</titla>
<year>2009</year>
<price>59.99</prics>
<bookDetails authorsCount=3 suppli t=2>
<Ruthors>
<Author name="authorli" tl@srvr.com"/>
<Author name="author2" mb “"aut2@srvr.com"/>
<Author name="author3 ="ant3dsrvr.com" />
</Authors>
<Suppliers>
<Supplier name@ls ierl” url="www.sapl.com"/>
<Supplier r* lier2" url="www.sup2.com"/>
</Suppliers

</bookDetai
<copies> ies>

</book>

<book category="Cat2">

<book category="Cat3">

<bock category="Cat4">

<bock category="Cat5">
<bocokstore>

What should the solution developer do to enhance the message parsing time ?
A. Use the MRM parser instead.

B. Set the parse timing to Complete.

C. Set the parse timing option to On Demand.

D. Add the bookDetails element to the XMLNSC parse Opaque elements

Correct Answer: D

QUESTION 3
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An application sends a length encoded file that looks like the extract below. The first 3 bytes of each record indicates the
size of the data that follows it.
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If both of these elements have their Physical Type set to Text, which one of the following options must the solution
developer choose to correctly model the input data?

A. dataLength of type xsd:int A.dataLength of type xsd:int data of type xsd:int with Length Reference set to
dataLengthdata of type xsd:int with Length Reference set to dataLength

B. dataLength of type xsd:short B.dataLength of type xsd:short data of type xsd:string with Length Reference set to
dataLengthdata of type xsd:string with Length Reference set to dataLength

C. dataLength of type xsd:int C.dataLength of type xsd:int data of type xsd:string with Length Reference set to
dataLength and Inclusive Length Reference enableddata of type xsd:string with Length Reference set to dataLength
and Inclusive Length Reference enabled

D. dataLength of type xsd:string D.dataLength of type xsd:string data of type xsd:string with Length Reference set to
dataLength and Inclusive Length Reference enableddata of type xsd:string with Length Reference set to dataLength
and Inclusive Length Reference enabled

Correct Answer: B

QUESTION 4

A bank uses an online system to handle currency transactions, sent via MQ messaging. To avoid multiple database
lookups to obtain the latest currency exchange rates, the rates are loaded into shared variables the first time the flow is
executed. Periodic updates to the shared variables are made using a control message. As the volume of transactions
increases, it is realized that a single instance of the flow can no longer cope, and so the solution developer is asked to
investigate ways to increase throughput. How can the solution developer increase the message throughput?
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A. Define multiple instances of the flow on the BAR file.

B. Deploy the flow to multiple execution groups.

C. Deploy multiple instances of the flow in different schemas.

D. Deploy the flow to a second broker and use MQ Clustering to redistribute these messages.

Correct Answer: A

QUESTION 5

A solution developer needs to determine why the latest update to a message flow does not work as designed. It is
thought that the latest update has not been deployed to the broker. What command can the solution developer use to
determine which BAR file is deployed?

A. mgsilist

B. mqgsireadbar

C. mqsireportbroker

D. mgsireportproperties

Correct Answer: A
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